Physics F14 MT?2 retake, question #2, Nov. 18,2014 Nar

3. (15 pts) Your job is to slow boxes down as they move down a60° incline as shuw.. -

right. Boxes (m = 20 kg) start at a speed of 10 m/s at the top_The

coefficient of friction pf 1.5 betweeh the boxes and ramp help you slow them. You are
touching the boxes only Tt {ast-2-muf their trip down the incline and your job is to

make sure they are only moving 5 m/s by)the time they get to the bottom. 2 Mb A
a)Find the force of friction. > M= 20kq
b) How much heat is liberated in this process? d ) (_i m
¢) What is the change of potential energy of the system? L
d) How much work should I do on each box? \ Iy 10m |5
¢) What is the force that I need to push with? Include direction. @ b 0 o
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T m oA hava mat received any information about




